EZBTHSE/ 5

REBD%‘JIJ(MS . ﬂ25 » 932)

* R U Hb IR & B/1712 / BEMFFARS
S HA m/s N 72 P
E?%”‘"*uﬁl'-i—x § = il neros it 15 |150200.250300.350400450,500 | 1000 | A93,A96, MIN,MIB,MIPFINW
e ) RS T (N) 137 363 ‘ 588 | REBR ;2 200250300350400450500 | 2000 | 273,276,Y50A.Y598
- AR 2 (A ) 15 | 150,200,300,400,500 750
# — REBH 55 1200,300.400,500.600,800 | 1200 %g'/f@%
- {8 FHE h 7o R (MPa) 0.18~0.7(iks B $4174:0.2~0.7) REBHT 25 [ 200,300,400,500,600 1200 YGQA:YGQB
ﬁf - FRE R —10~60C (I Hi4) 32 8001000 1500
- (HiEE R EE(mms) | 50~ eoomfwswuvo 600)
' K IEREmMM) |0~250"] 251~1000"5 2001~ L8
EREESHE
RESRRAE
G
s =N
o [EEZ$ER] REBR - - |j Y59A e
x - e -  E——
— [BHESHRIREBH Q F Y59A]
\ - FHuBIL S L l%f’ﬁﬁ& Lntrems BEPEFF A
HA(mm) |15 [25 |32 Zics] EEdFE  xins] 24
it sfse [e | - NS
T [Phh|- @ | @ n n~
HMERSTE (ZXK)
eI
|REBR 15 - 25 - 32} SIS R e— e L
A W K
RN :
187 Py s
H i 11 P (129%) > 3 1P (8519)
CB HA EH A " e B
HT T Y 8-MMIEZELTEM
R L 4-iiALgBIEEC HP
4-3 7 0
ARIREKE m =
g e 4 &
= sl ©
935 R R S EE
? & ©
o n P ~ 27 1 © ©
FHETT A ) Q@ ~ T I
HS | | R AP wo|K I S & R 1 P ()
CR HR ) T B Q+fif G EhEH B
iZ5g Z+ 4R
22
-~ fi 58 11 P B3 11 P (4598 8
wem P (8 = ) s
B H R B ]
o ©
> 3
|
REBRI15
REBR15
(mm)
B Al B|c|cB|cR|D|F |G |eP|eW|H|HA |[HB| HC | HP | HR | HS | HT
REBR15 12 0 8 0O 4.20 20 050|117 OO0 80O 50| 330 31.500 3200 300 | 17 0O 310 —0 300 8.50 —
REBR25 12.500 9.50| 5.20 30 1 0] 27.8 8.500] 1000 | 440 | 42.500 440| 410 | 235 430 | 14.500 410 6.500 | 33.5
REBR32 | 19511 |65 | 3 | 15 |35 [105 | 16 | 55 |535 | 55 | 52 | 29 54 | 20 51 | 7 39
e JxE K|L |[D|m™m MM N P PW|Q |[gw| T [ Tc | w [wr| X | Y | Z
REBR15 M5x0.8x7 140 530 4.30| 50 | M4x0.7 6 0O M5x0.8 320 840| 180 |21 0O 17 O 250 — 180J| 54.5[] 980
REBR25 M6 x1x8 150| 700 5.60/ 60 | M5x0.8 6.50 Rc1/8 430 | 1050| 200 | 25.5000 22.500] 400 | 21.501 2800| 72 12500
REBR32 |M8x125x10| 13 | 76 | 7 7 | M6x1 |85 | Rcl8 | 54 |116 | 26 |33 | 28 50 | 27| 35 | 79 | 148

1.291



IEZB A SEL: REBHR
SMERSTE (ZX)

LL

| 1% / REBH 15 - 25 || LI
| [ @005 600 |
I B— EoN
N
N o
- W =TT
e o
| [Te— o 1]
2-p
LW S+ 11k
«|EA, EB
: éﬁ ot Sas. =
) @ b = 3
: {/T@éé E 2% &
$Hme o] 94
PP |8 N, - A
\ W Z+ 17k
AR Y 5 R BE
J
T™W
(mm)
Z'I FidlR=] N NL NT P PA PB PP S TW W XB VA zZ
REBH15 | 16.5 15 8 M5 x 0.8 50 62 21 161 65 88.5 0 194 | 17.5
REBH25 | 20.5 18 9 Rc1/8 65 75 27 209 75 103 9.5 250 | 23.5
il =] A EA EB H HA HB HC HG HP HT J L LL LW M MM
REBH15 97 26.5 21 46 335 | 335 45 17 42 19 M5 x 0.8 106 | 44 715 M5 x 0.8 8
REBH25 125 29 24 63 46 46 61.5 25 58.5 | 28 M6 x 1.0 138 | 56 86 M6 x 1.0 10
2% / REBHT 25 - 32 | i - "
PA
f | /\‘O @ Q@
XB
28]
S S — o M S
i
2-Rcl/8 L - E[ @6 @ @ ¢@ u
LW /7
EB [ A S+ ik
£ 9 [O— g ————————————
4 I ola o
2 @ & 9 s 5|
HRL & & ., 9
,_T \ PP PS ' N A
z ) 7+ 47k
AR g HPY 5 R B
J
(mm)
pilE=3 A EA EB H HA HB HC HG HP HT J LL LW M MM N
REBHT25 125 28.5 79 63 46 46 61.5 | 19.5 | 58.5 35 M6 x 1.0 56 119 M6 x 1.0 10 20.5
REBHT32 132.5| 30 90 75 525 | 575 | 725 25 69.5 43 M8 x 1.25 63.5 | 130 M8 x 1.25 12 23
pilE=3 NL NT PA PB PP PS S T™W W XB A
REBHT25 18 9 65 108 18 51 209 110 | 136 9.5 250
REBHT32 22.5 12 66 115 14 61 219 124 | 150 2 265

1.292



